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QUESTION 1 ( COMPULSORY)

(12 Marks)
For the visual display to have the desired effect, one should adhere to principles

of visual merchandising. Describe the principles and elements necessary to put up
an effective visual display.

alternatives mannequins? Briefly describe four (4) alternatives you can use in
your displays,

(4 +12 =16 Marks)
[TOTAL MARKS = 4]

UESTION 2

Lighting plays a critical role in a visual display. What are the functions of lights in

a display and discuss the following three (3) types of lighting systems and their
purpose in a retail type of set up:

1) Fluorescent lights
i) Incandescent li ghts
1ii) Halogen lights
(6x3 =18 Marks)

You have been hired by Legit as a Visual Merchandiser. How would you set up
your work space and maintain it to reflect an organised personality,
(12 Marks)
[TOTAL MARKS = 30]

QUESTION 3

visual display for the last quarter in the year. How would you start planning for
the display and describe the points to consider executing for the display?

(5+13=18 Marks)

Props are usually used in making displays. What are they and what types of props

would you use to serve what purpose? State the tips you would follow in propping
your display.

(12 Marks)

[TOTAL MARKS = 30]
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QUESTION 4

Differentiate three (3) floor layout plans one may choose from for the shop floor.
Include an illustration for each layout plan.

(3x4 =12 Marks)

For the assigned task in Question 3 above, describe the kinds of displays and
display techniques you may experiment with.
(10 + 8 = 18 Marks)
[TOTAL MARKS = 30]



